

What is a Cross Rate & How To Derive One

FX101 July 15, 2014

Small (VSE) • Large (Corporate) • Medium (SME / MidMarket) • Financial Institutions • Education • NGOs • Law Firms • Import / Export • Other

The US dollar (USD) is the currency against which all other currencies are priced. Any exchange rate (AUDCAD for instance) that does not involve the USD is considered a "cross rate". Currency cross rates are not usually quoted outside of a few significant market pairs: EURGBP, EURJPY, EURCHF and AUDNZD.

If you are trying to derive the rate at which you would change your base currency and it does not involve USD you may need to find the cross rate.

In order to do this you have to find two currency pairs: one that contains your home currency and the other must contain the foreign currency that you want to exchange it with. Next, determine what type of quote each of your two selected currency pairs is and apply the corresponding rule for deriving a cross rate.

- Direct Quote: 1 foreign currency unit = x home currency units
- Indirect Quote: 1 home currency unit = x foreign currency units

How to Derive a Cross Rate from a Direct Quote & Direct Quote:

Rule: Divide the terms currency by the base currency on the opposite side.

EXAMPLE:

Derive the rate for JPYAUD

	Bid	Ask	
USDJPY	119.25	119.65	USD is base, JPY is term
USDAUD	1.0485	1.0535	USD is base, AUD is term

The JPYAUD **Bid** rate = divide the term currency bid by the base currency ask
 $= 1.0485 / 119.65 = 0.008763$
 *this is the rate at which the market *buys* JPY and *sells* AUD

The JPYAUD **Ask** rate = divide the term currency ask by the base currency bid
 $= 1.0535 / 119.25 = 0.008834$
 *this is the rate at which the market *sells* JPY and *buys* AUD

How to Derive a Cross Rate from a Direct Quote & Indirect Quote:

Rule: multiply on the same side

EXAMPLE:

Derive the rate for EURAUD

	Bid	Ask
EURUSD	1.3798	1.3858
USDAUD	1.0432	1.0502

The EURAUD **Bid** rate = Multiply the term currency bid by the base currency ask
 $= 1.3798 \times 1.0432 = 1.4394$
 this is the rate at which the market *buys* EUR and *sells* AUD

The EURAUD **Ask** rate = Multiply the term currency ask by the base currency bid
 $= 1.3858 \times 1.0502 = 1.4553$
 this is the rate at which the market *sells* EUR and *buys* AUD

How to Derive a Cross Rate for an Indirect Quote & Indirect Quote:

Rule: divide the base currency by the terms currency on opposite sides of the spread.

EXAMPLE:

Derive the rate for GBPEUR

	Bid	Ask	
GBPUSD	1.9850	1.9950	GBP is base, USD is terms
EURUSD	1.3460	1.3520	EUR is base, USD is terms

The GBPEUR **Bid** rate = divide the base currency bid by the terms currency ask
= $1.9850 / 1.3520 = 1.4682$
this is the rate at which the market *buys* GBP and *sells* EUR
at 1.4682 EUR per GBP.

The GBPEUR **Ask** rate = divide the base currency ask by the terms currency bid
= $1.9950 / 1.3460 = 1.4821$
this is the rate at which the market *sells* GBP and *buys* EUR
at 1.4821 EUR per GBP

[Foreign Exchange](#)

Resources are provided for general informational purposes only and do not take into account your particular needs or circumstances. The resources provided here should not be construed as providing advice or recommendations of any kind.

Deliver the Daily Currency Market Analysis to my Inbox

Published five days a week, this newsletter provides day-to-day trends and activities affecting the market in easy-to-understand snapshots.

Email *

First Name *

By checking this box, you consent to receive commercial electronic communications from Western Union Business Solutions such as newsletters, market updates, event invites, and other information which allows you or your business to make informed decisions about foreign exchange and international payments.

By submitting this form you are subject to the terms within our [Privacy Statement](#).

Related Foreign Exchange Reading



B2B Payments Innovation of the Year Award with WU® EDGE™ Platform.

© 2016 Western Union Holdings Inc. All rights reserved.

Western Union Business Solutions is a division of The Western Union Company. Services in the US are provided by Custom House USA, LLC (NMLS ID: 906985) and Western Union Business Solutions (USA), LLC (NMLS ID: 907333) (collectively referred to as "WUBS" or "Western Union Business Solutions"). For a complete listing of US state licensing, visit <http://business.westernunion.com/About/File-a-Complaint>. For additional information about Custom House USA, LLC and Western Union Business Solutions (USA), LLC, visit <http://business.westernunion.com/About/Compliance-Legal>.

** Transaction fee-free EDGE Network Payment services are available between fully accredited WUBS customers that have registered to use the WU® EDGE platform and are authorized by a WUBS affiliate to access WUBS services in USA, Canada, United Kingdom, France, Italy, Austria, Germany, Poland, Czech Republic, Singapore, Hong Kong, Australia, New Zealand or in other WUBS operating countries where customers have been specifically granted access to such service. WUBS does not charge license fees to access or use the WU® EDGE platform. In the event that a transaction that is initiated through the WU® EDGE platform involves a currency conversion a WUBS affiliate will apply a foreign currency exchange rate, which includes a margin set by WUBS. Transaction fees may also apply to transactions other than EDGE Network Payment services that are initiated through the WU EDGE platform.*

***WUBS holding balance facility enables you to temporarily hold amounts that you have acquired to make or receive a payment for up to 90 days. Amounts held in a holding balance do not earn interest.*

Compliance & Legal Intellectual Property File a Complaint Fraud Awareness



B2B Payments Innovation of the Year Award with WU® EDGE™ Platform.

© 2016 Western Union Holdings Inc. All rights reserved.

